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6 4 Solve Linear Systems
* ¥ by Multiplying First
You solved linear systems by adding or subtracting.

LTI  You will solve linear systems by multiplying first.
So you can solve a problem about preparing food, as in Ex. 39.

GOAL: Solve systems of linear equations exactly and
approximately.
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What's different today??

Today we will be doing the same thing as
last week, but with a twist! For instance, could we
solve the following system?
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Example 2!

Solve the following system
of equations:

24x + 15y =20

(65 FEH=3 (0

g4x+ |5\7’ o le+3é}g>.~s

il pher o
—_ifﬂ? q4X=-

<= 54




Section 6-4.notebook April 05, 2018

Example 3-What now???
(LD 3m+2n=6 ()
() 4m+5n=-31 (3)
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Example 4: Same Thing!
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Homework 6.4:
Pages 396-397, # 3-7, 10-13
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